PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production		Value
FORESTRY						
Pulpwood						
Pine				4,704	cords	
Hardwood				20,863	cords	
Pulpwood (Total)				25,567		
Chip & Saw				71	cords	
Saw Timber						
Pine				2,430,286	board feet	
Hardwood				1,648,019	board feet	
Saw Timber (Total)				4,078,305		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,					\$3,617,839
Total Forestry Stumpage						\$1,879,567
Forestry (Total)						\$3,617,839
FRUITS						ψ5,017,057
Blueberries	*	5.0	1,400.00	7,000	lbs.	\$8,750
Peaches	*	5.0	150.00		bu.	\$22,500
Fruits (Total)		10.0				\$31,250
FEED GRAINS		10.0				, ,
Corn	*	355.0	65.00	23,075	bu.	\$52,842
Feed Grains (Total)		355.0		ŕ		\$52,842
HAY FOR SALE						•
Grass	45	7,500.0	2.00	15,000	tons	\$750,000
Hay for Sale (Total)		7,500.0		·		\$750,000
HOME GARDENS	25,000	,				\$7,500,000
NURSERY CROPS						
Floraculture & Bedding Plants	8				acre	\$350,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
NURSERY CROPS						
Woody Ornamentals	*				acre	\$200,000
Foliage Plants	*				acre	\$150,000
Nursery Crops (Total)						\$700,000
PECANS						
Native	500	200.0	250.00	50,000	lbs.	\$30,000
Pecans (Total)		200.0				\$30,000
SOD PRODUCTION	*	30.0			acre	\$106,380
SOYBEANS	*	270.0	45.00	12,150	bu.	\$80,798
SUGARCANE						
Raw Sugar	*	560.0	6,672.00	3,736,320	lbs.	\$455,831
Molasses		560.0	200.00	112,000	gal.	\$16,240
Sugarcane (Total)		560.0				\$472,071
VEGETABLES						
Cantaloupe	*	5.0	170.00	850	cartons (40	\$12,750
					lbs.)	
Collards						
Fresh	20	9.0	500.00	4,500	doz. bunches	\$31,500
Collards (Total)		9.0				\$31,500
Cucumber						
Fresh	*	1.0	200.00	200	bu. (50 lbs.)	\$2,000
Cucumber (Total)		1.0				\$2,000
Eggplant	*	5.0	550.00		bu. (33 lbs.)	\$41,250
Mustard (Fresh)	20	200.0	500.00		doz. bunches	\$700,000
Okra (Fresh)	7	3.0	250.00	750	bu.	\$15,000
Squash (Fresh)						
Yellow Squash	*	12.0	250.00	3,000	bu. (45 lbs.)	\$36,000
Squash (Fresh) (Total)		12.0				\$36,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Sweet Corn (Fresh)	*	5.0	700.00	3,500	doz. ears	\$10,500
Tomatoes (Field)	8	6.0	1,500.00	9,000	lugs (20 lbs.)	\$135,000
Turnips (Fresh)	6	8.0	600.00	4,800	doz. bunches	\$33,600
Vegetables (Total)		254.0				\$1,017,600
WHEAT	*	30.0	55.00	1,650	bu.	\$5,313
TOTAL ALL PLANT ENTERI	PRISES					\$14,364,092

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	*	27 Acres in	Prod. 27,014	lbs.	\$17,559
Catfish (Farm)	*	5 Acres in	Prod. 22,000	lbs.	\$12,540
Alligators (Farm)			2,195	ft.	\$37,327
Aquaculture (Total)					\$67,426
FUR ANIMALS			272	pelts	\$1,442
ALLIGATORS (WILD)			195	ft.	\$4,290
HUNTING LEASES	55	20,000 No. Acre	es	acre	\$160,000
		Leased			
HONEY	60	124 No. Hive	es 650	lbs.	\$878
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES				\$234,035

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value

	AINIIVIA	AL ENTERI RISES TRODUCTIO	1 1		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES	Troducers	1 loddellon	Troduction	Wicasure	
Steer Calves					
300-400 lbs.			5.40	head	\$106.047
400-500 lbs.			342 1,084		\$196,947 \$452,117
					\$453,117
500-600 lbs.			2,169		\$996,590
600-700 lbs.			1,626	head	\$845,520
Steer Calves (Total)					\$2,492,174
Heifer Calves			415	1 1	¢122.046
300-400 lbs.				head	\$132,846
400-500 lbs.				head	\$312,881
500-600 lbs.			2,096		\$892,728
600-700 lbs.			825	head	\$402,188
Heifer Calves (Total)					\$1,740,642
Yearling Cattle			7 00	1 1	#201.25 0
700-800 lbs.			500	head	\$281,250
Yearling Cattle (Total)			0.40		\$281,250
Cow-Calf Pairs				pair	\$604,800
Cull Cows				head	\$396,270
Cull Bulls			100	head	\$73,050
Cattle & Calves (Total)	325	12,000 No. Cows			\$5,588,187
DAIRY					
Dairy Cows				_	
Milk	*	290 No. Adult Cows	4,169,917		\$541,672
Cull Cows				head	\$35,451
Bull Calves			160	head	\$4,400
Dairy Cows (Total)					\$581,523
Dairy (Total) HORSES					\$581,523

Animal	Number of	Units of		Total	Units of	Gross Farm
	Producers	Production		Production	Measure	Value
HORSES						
Brood Mares						
Race Horses	46		No. Brood Mares		head	\$2,220,000
Show Horses	515	950	No. Brood Mares	725	head	\$2,175,000
Recreation Horses	2,400	2,000	No. Brood Mares	1,700	head	\$2,550,000
Brood Mares (Total)						\$6,945,000
Stud Fees						
Show Horses		25	No. Stallions	500	mares bred	\$750,000
Recreation Horses		50	No. Stallions	500	mares bred	\$50,000
Stud Fees (Total)						\$800,000
Race Horses	46			820	head	\$8,200,000
Show Horses	515			1,725	head	\$6,900,000
Recreation Horses	2,400			3,700	head	\$3,700,000
Horses (Total)						\$26,545,000
POULTRY						
Broilers	*			35,000	lbs.	\$21,350
Edible Eggs	*	100	No. Hens	200	doz. eggs sold	\$168
Cull Hens				3,600	lbs.	\$540
Breeder Flocks	*	50	No. Birds	0	doz. hatching	\$0
					eggs sold	
Poultry (Total)						\$22,058
RABBITS						
Fryers	*	1,500	No. Animals	6,000	lbs.	\$4,800
Does	*	500	No. Animals	4,000	lbs.	\$60,000
Rabbits (Total)						\$64,800
SHEEP						,
Wool		200	No. Sheared	1,000	cwt.	\$160
Slaughter Lambs					head	\$9,813

	ANIMA	<u>L'ENTERPRISES PRODUCTI</u>	UN		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SHEEP					
Feeder Lambs			75	head	\$4,838
Stocker Sheep			35	head	\$1,663
Cull Sheep			35	head	\$1,225
Sheep (Total)	10	200 No.Breeding Ewes			\$17,698
GOATS					
Show Goats			75	head	\$11,250
Slaughter Goats			200	head	\$17,000
Stocker Goats			100	head	\$6,500
Cull Goats			80	head	\$3,360
Goats (Total) SWINE	25	400 No. Does			\$38,110
Show Pigs			400	head	\$120,000
Feeder Pigs			650	head	\$11,700
Slaughter Hogs			1,600	head	\$197,600
Culls			125	head	\$13,750
Swine (Total)	*	No. Sows			\$343,050
TOTAL ALL ANIMAL	ENTERPRISES				\$33,200,425
EAST BATON ROU	GE PARISH TOTA				\$47,798,552